Egzamin maturalny z jezyka angielskiego dla absolwentow klas dwujezycznych.
Czesé 1. Model odpowiedzi

TASK. 5

MODEL ODPOWIEDZI
CZESC 11

Za kazda poprawna odpowiedz przyznajemy 1 punkt. Maksimum 14 punktow.

ltem

A

B

C

D

E
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H

J

5.1

5.2.

X

5.3.

5.4.

5.5.

5.6.

5.7.

5.8.

ltem

5.9

5.10.

5.11.

5.12.

5.13.

5.14.

TASK 6

Za kazde poprawne rozwiazanie przyznajemy 1 punkt. Maksimum 9 punktéw.

ltem
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B
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D
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X

6.2.

X

6.3.
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2 Egzamin maturalny z jezyka angielskiego dla absolwentow klas dwujezycznych.
Czesé 11. Model odpowiedzi

TASK 7.
Za kazda poprawna odpowiedz przyznajemy 1 punkt. Maksimum 7 punktow.

Przykladowe odpowiedzi:
7.1. The fact that he is doing something he doesn’t have time for. (1 pkt)
7.2. The restaurant should run smoothly / effectively / without problems. (1 pkt)
7.3. The restaurant went bankrupt. (1 pkt)
7.4.17.5. (dwie sposrod nastepujacych trzech odpowiedzi) (2 pkt):
- silverware that bears the patina of years of endless polishing
- a battered tin dish that has seen a century of roughly crushed ice
- a marble slab worn into a gentle slope from years of waiters cutting lemons
7.6. If something is dead in the water, it has failed / it is not going to work out (1 pkt)
7.7. He wants to recreate the atmosphere of the restaurant. (1 pkt)

TASK 8.

Sprawdza egzaminator zgodnie z kryteriami. Maksimum 30 punktéw.



